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Just as a book has no life spirit within it - 27 79 12 PRR 927 "20 AR

Overview'

"2 20 " derived from the word 990 (through a %21 v391 590) that we include
anything which is similar to 790, meaning something which does not possess a m"
0> and it does not eat. Our '01n discusses whether we can redefine the v79 of 790 in
a different manner.

Mmoo responds to an anticipated difficulty:
- D329 XJ20) NYY YPIAND 2510 3N HYan NAN 937 990 NN 919915 vy NY

3" did not want to say, ‘just as a 950 comes from an animal, etc. so too we may
include only writing material which comes from an animal, excluding a leaf, and a
tablet, and a notebook’ which do not come from animals —

mooin strengthens the question explaining why we should have defined a 750 as 11"van X277 727:
= 199N 3APIYN 22N (v, 41 PYITIPT RNDP P92 2) DY 9N

Even though that in the first P92 of PPR7>P N2on regarding 7p1vi, the X7n) states -
- XY Y997 99 AN PN 0N TP NPT XINN 7N INS 2905 INT

That if only 8% would be written, I may have thought that one is required to give

specifically only animals, but not things which grow from the ground (therefore
it adds 121 7373). In any even we see that we define 7aR¥ as an animal (excluding ypap "2173), so
here too we should define 7190 as coming from an animal and exclude writing materials that are
Ypp °2173 such as 101 9Y).

Mmoo responds that these two definitions are different:
= 4958y DN Yo¥a DY T8 999 N HYAN NAN 92T VN 18 79 D5 2PN XY XY

Perhaps the defining of a 750 as something which comes from an animal, is not
as significant as defining XX as being an actual animal.

mooIn offers an alternate response:

!'See (‘Overview’ to) previous 720 7"7 '0N.
2 A 790 (parchment) is made from the hide of an animal. N90n is asking instead of defining a 150 as something which
has no life (and therefore it would not exclude a detached leaf or a X723y, etc.), let us be more precise and say that a
190 is defined as something which comes from an animal (and therefore it should exclude an 121 X201 71%9).
3 mpwn is the severance payment given to an M2y 72y when he leaves his master. The 209 (in 7,10 [AX1] 2°727) writes
N3 T2 717307 TINER 17 P22yR P23 (you shall surely laden him from your flock, your silo and your wine).
4 When the 7710 writes 18X, the dominant characteristic is that it is an animal (therefore we would exclude ypp 17
which are not animals); however by 790 its dominant character is not that it comes from an animal (at least not as
dominant as XX is an animal), but rather when we look at a parchment, we see something which is 21 M7 12 PX.
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And additionally, all the expoundings of a 9721 v91 %22, are according to what

seems appropriate for the 232217 to mention in each case what is appropriate for
it -

= YPAP DY 69991 5959 VP (3,03 91 Py 5172991 Y1 P934

For in 7°29¥» %22 792 he mentions (as a definition of the v9), fruit from fruit and

growing from the ground -
$(D9IN 19ONRY) [NIND 12 199790] ARNIV DAPN 139RY 92T NIIN DN (3,8 91 711D

And in 7720 noon (he defines the v79, saying) just as the 7931 1277 is something

which is not 8% %2p» [and it grows from the ground] (so too the 720 of the 7210
must be 7R 12 12173 AR H2pn WRY 727).

Summary
XX 1s more readily identified as 11"v2 than 790 is identified as 1"yan X2. The o°0m

are W17 the °P109 as they feel is appropriate.

Thinking it over

Why is maoin citing the X3 in 127w 232 21978 It cannot be to show that there he
includes vpap *217°3, but not by P11 or by 1210, because in 1217°Y the vI9 includes
YPIpP "7 by saying "Mow2) 102", It also cannot be that by 17210 it states IR 22p1 1K,
but not by P21y, for in 1217y they are all aXmw Hapn (the 10w 1) as well as the
IX¥Y P2 after they are slaughtered! So why® does mipoIn cite that X732

5> The X na there is discussing what may be purchased with 1w “wy» money. The P0od (in 73,7° [AR1] 0°27) states,
21 YD1 TPRYA WK 9531 9% 10737 INKDY P22 WO MNA WK 953 197 7AN)). This P10 is expounded as a (732) 2
("1 9227) 9991 (Q5wa U2 IRE 1P22) V1Y just as the 1O indicates PP 27N 191 M1, s0 too one may purchase only
these types of items. See ‘Thinking it over’.
6 See >"w1 there "9 17"7 who writes, DX PYTTW 02X Q72T ,7W 191 1ARD TN Y.
" The 77N (in 2,70 [A81] 0*127) writes, "3 272 nyaw T2 ayyn ndgs a1, The X derives that since the word a1 (which
indicates the 73317 127p) is written next to M0, this teaches us that the 750 of a 7210 must be from something similar
to a 3. However the X7n3 there includes in the description of a 73°an (besides that it is not IR0 92pn) that it is 1717°3
PRI 1n. However regarding pivn we defined 18 as a 11"y, but not as yIR: 1 12173, This shows that the o1 had
their reasons which w17 is appropriate for each case.
8 See footnote # 5.
? The w"x%"71 '0n does not cite it.
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